



${\rm DN211503}$ this label is not required by law, however, winnebago industries inc. and LA MESA RV CENTER, INC.

BELIEVE YOU HAVE A RIGHT TO BE INFORMED OF FAIR PRICING LEVELS TO HELP YOU READILY COMPARE THE RELATIVE VALUE OF RECREATIONAL VEHICLES YOU MAY BE CONSIDERING.

VEHICLE DESCRIPTION	DIMENSIONS	DIMENSIONS		CAPACITIES		
MAKE: EKKO	EXTERIOR LENGTH	23'	FUEL: 31 GAL	FRESHWATER TANK:	50 GAL	
MODEL: 2025 WF622A	EXTERIOR WIDTH	7'2.5"	HOLDING TANK -	BLACK:	GA	
SERIAL NUMBER: 106115179891	EXTERIOR HEIGHT	10'6"	HOLDING TANK -	GRAY:	51 GAL	
CHASSIS VIN: 1FDRU8PG7RKB40556			LPG (FILLABLE T	O 80%):	8 GAL	
	Note: Exterior height of vehicle is measured to the highest standard feature on the roof and will vary due to chassis variance, option selection, fluids, and other loading factors.		Note: Capacities are estimates based on calculations and represent approximate numbers. Capacities may vary based on fabrication and installation of tanks and compartments.			

Ol	PTIONS INSTALLED BY MANUFACTURER	RETAIL
PJ4	JUNIPER/RVRCK/WEATHERED TK 2	
1GD	EXTERIOR GRAPHICS - DELETE	
1MA	ENTERTAINMENT SYSTEM	761
35B	LUGGAGE RACK	1.494
37D	GRAPHICS	
	VERDANT II	
45F	CAB SEAT BED	508
52F	AWNING-BATWING	2.465
52K	GENERATOR.CARB COMPLIANT	
9PC	TAILGATE PACKAGE	1.769

MANUFACTURER'S SUGGESTED BASE PRICE	\$	215,551
TOTAL OPTIONS	\$	6,997
DELIVERY AND HANDLING CHARGE		2,000
TOTAL BASE, OPTIONS, & DELIVERY CHARGE	s	224,548



Stock Number: DN211503

VIN-

1FDRU8PG7RKB40556

Manufacturer:

WINNEBAGO

Product:

EKKO

Floorplan:

WF622-A

Manufacturer's Suggested Retail Price:

\$224,548

Dealer Installed Options:



VanUp Baja Edition

- . King 2.5 Adjustable Front Coilover Shocks
- Adjustable Front Control Arms
- King 2.5 Adjustable Rear Shocks
- · 2" Rear Lift Block
- · Upgraded Rear U-Bolts
- Nacho Quatro Ditch Lights
- Nacho Offroad Wiring Harness
- CATuned Rear Door Molle Panel
- · Flatline Van Co. Nudge Bar
- . METHOD RACE WHEELS- Satin Black
- TOYO AT3 TIRES 225/75R16
- Specialized Wheel Alignment

Total Added Equipment and Installation

\$19,998

Total Price*

\$244,546

* Dealer's price for this vehicle as equipped. This price DOES NOT include any government fees and taxes, any finance charges, any dealer document processing charge, any electronic filing charge and any emission testing charge.

This addendum has been added by La Mesa RV, not the manufacturer, to reflect any additional charges for items added.

THIS IS NOT AN AUTHORIZED FACTORY STICKER.



INVOICE

VanUp California LLC 5200 Chiles Rd Davis, CA, USA, 95618 P: (866) 858-9789 E: aschald@lamesarv.com

INVOICE# INV-00001376

April 10, 2025 Order: CO-0001784

Mileage in

1927

P: 530-747-8400 E: payables_san_diego@lamesarv.com

SERVICE JOB 1

SOLD TO

Sold by: a niebuhr

\$16,644.77

Mileage Out

1929

Unit Details 2025 Winnebago EKKO - FORD - DN211503

W Sacramento, CA, USA, 95605

[Mileage: 1929] [Plate#: DN211503]

La Mesa RV-Davis

1060 Riverside Pkwy

Concern

• Baja Edition

Cause

• upfit

Correction

complete

Item	Description	Qty	Price	Total
AWD-LIFT-NO SHOCKS	TOR - Adjustable Lower Control Arms And 2" Rear Lift Kit W/O Shocks	1	\$2,099.99	\$2,099. 9 9
25001-354A	King Shock - 2.5 Front Coilovers (Pair) Adj - Transit	1	\$3,995.00	\$3,995.00
25001-414A	King Shock - 2.5 Rear Non-coilovers (Pair) Adj - Transit	1	\$1,595.00	\$1,595.00
LAB1	Shop Labor	15	\$150.00	\$2,250.00
VU355221	VanUp - Hoodline Mount / Hood Light Mount (Pair) - Transit	1	\$110.00	\$110.00
PM412	Nacho - Quatro - Combo	1	\$499.99	\$499.99
LAB1	Shop Labor	1.5	\$150.00	\$225.00
LAB1	Shop Labor	2	\$150.00	\$300.00
CAT-MOLLE- EKKO	CAT - MOLLE Panel (Single) - Ekko - Sprinter	1	\$498.00	\$498.00
LAB1	Shop Labor	0.5	\$150.00	\$75.00
ALIGNMENT	Alignment	1	\$150.00	\$150.00
TR1103B	FVC - Nudge Bar - Transit	1	\$895.00	\$895.00
LAB1	Shop Labor	1	\$150.00	\$150.00
V3SP0	Nacho - Grill Light Harness W/Switch - Sprinter Or Promaster	1	\$129.99	\$129.99
TIRE	Waste Tire Fee	6	\$1.75	\$10.50
355600	Toyo AT3 - 225/75R16	6	\$288.55	\$1,731.30
	N Method 901 - Dually Rear Wheel W/ Lugs 16x5.5 - Matte Black	2	\$459.00	\$918.00
MR901655925117	and the state of t	2	\$399.00	\$798.00
TOR-REAR SHOCK RELOACATION BRACKET	Transit Offroad - Rear Shock Relocation Bracket - Transit	1	\$165.00	\$165.00
SUP	Shop Supplies Detail	1	\$49.00	\$49.00

INVOICE PAYMENTS

out of stock on torque wheel changed to methos slightly higher price

out of stock KO3 tire changed to Toyo slightly different price

Charge Account [DN211503]	ount [DN211503] 04/10/2025 \$16,644.77	IUIALS		
			Parts	\$13,435.27
			Labor	\$3,150.00
			Fees	\$10.50
			Shop Supplies	\$49.00
			Sub-Total	\$16,644.77
			Total	\$16,644.77
			Amount Paid When Invoiced	\$0.00
			Original Balance Due	\$16,644.77
			Current AR Balance Due	\$16,644.77
Signature :				

PIATOT

I authorize the above upfitting and deviation from Original Equipment Manufacturer ("OEM") specifications. I understand that this may affect this unit's safety system and/or OEM warranties. I am responsible for inquiring with the warrantor regarding the status of any warranties. I understand that any warranties provided by VanUp are posted on vanupoffroad com/warranties and that VanUp disclaims all other warranties whether express or implied including, but not limited to, any implied warranties of merchantability or fitness for a particular purpose of any parts or service. I understand that VanUp expressly disclaims all liability for the upfitting. I accept all risk and liability related to the upfit for myself, my property, and all others, whether foreseeable or unforeseeable.

I acknowledge that there is a 3% restocking fee for uninstalled equipment, a 5% restocking fee plus shipping for specially ordered equipment, that installed equipment may not be eligible for any refund, and labor is never refundable.